	[image: image28.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2010

Class – XII

Subject –Mathematics
                                                           SECTION-A                               
1. If A = 
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 Find x and y Such that A2 = xA + yI.
2. Find the value of  ‘ k’ so that the given function is continuous  at x = π / 2  

f  ( x )    =   
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4. Find the absolute maximum value of 
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5. Find the point on the curve 
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, at which the tangent is parallel to X-axis .

6. If 
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, then find dy/dx.

7. Check the monotonocity i.e increasing & decreasing of 
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                                                          SECTION-B                                     6x4 =24 marks    
9.
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                                                                OR
  Solve for x : 
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11. Find the equation of tangent to the curve 
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 which is parallel to the line
      4x – 2y + 5 = 0.    
                                                                 OR
Find the intervals in which 
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[image: image15.wmf])

,

0

(

p


12. Water is dripping out from a conical funnel, at a uniform rate of 2cm3/sec through a tiny hole 

       at the vertex at the bottom, when the slant height of the water is 4cm , find the rate of
       decrease of the slant height of the water, given that the vertical angle of funnel is 1200.

13. If  y =
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14.If 
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be defined as 
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                                                              SECTION-C                                      3x6 = 18 marks   
15.
Find 
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. Hence, Solve the system of linear equations   
x  + 2y - 3z = -4,
2x + 3y + 2z = 2,  and 
3x - 3y - 4z = 11
16. Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is 8/27 of the volume of the sphere 

                                                                .OR
Show that a right circular cylinder, which is open at the top and has a given surface area, will have the greatest volume if its height is equal to the radius of its base.
17. Kellogg is a new cereal   formed of a  mixture of barn and rice that contain at least  88 gram of protein and 36 milligram of iron .knowing that barn contain 80 gram of protein and 40 milligram of iron per kg and that rice contain 100 gram of protein and 30milligram of iron per kg,  find the minimum cost of producing  this new cereal if bran cost Rs 5 per kg and rice cost Rs 4 per kg.
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